=
=

202149 NI &-All

18.

10.

2021.




—de

oJ

—de

<)

R0
K+

-MIE 2K

ol

Al

H
)

2021

®r
ko
<

ol
)

0

=30t

2X

=
=

HE2l AE-Al

e

=
(=]

[0

O
[y

0

0D

82,720,000&

SQUXE OAEHAE 22(

22 .

AEZ2E0A

N==2
ST

3

2
[

==}
=

0]

ol

ok

au

ol
oJ

{10

222

HOel OlALE]

A LHOIA

=
-/

AHE A

0

B

ioll
o0
&)
ol
<

o]

_

nJ

oI
100
BN

ol
KO

A&

S|SB

2012. 8. 7.>

Ol At2]

ol
—

|12 2/Z= HXMOF StCh. <ohs 1998. 1. 7.,

18&

102

20214




20218 & 2XF =& (& HBUS

N &
HA AR
= 1 4 PyNEF| E
6.386,00 ~1,192.00
St 2
2 g = o| 5194,000 0| * A BZHAIR
ST loia big| y2 vig | 5,800,00 ~1,450,00 |~ HEX EIAE CIBI0 BAHE 20
TES ~ol aol 0 4,350,000 0 2| BAGIDA &
=g - FMEC 0|2 HEOR Q150] S50
o o BL&E E#/\ﬂél»]_Il» St
og= | og o= 580,000 | 837.694| o257.694| &4 2
VEE C B0 AYE A0 ZHEHO
A A B BAS N &
Tao | maol 6.000 6.306 306 2
OIX 42l
(&9l : &)
N =
— — HA AR
n = 11X =4 NS s
_ = HALO -
2 5t = 13,059,000 | 11,867,000 | 1,192,000 | * A& BB AR
L ASHYALAZE 5600008 = K=
~2H 2
= 3,000,000 | 3.560.000| 560.000| &% &
axz
- HMAIZDZZS 100.00802 = K=
MAZD2| 1,000,000 1,100,000 100,000 | _ _ . _
SN &
ASH | 298|
— TlL2k = 5,3__] DFOH ==
THet| 400,000 200,000 | -200,000 |~ MEUIE 200,000 =% AISot2 A
st
et | 400,000 100,000 | -300,000 | - JIEFSSHIZ 300,0008 2% X350
X
== -
wozs| TR SH | 2.754.000| 2,694,500 59,500 | | 1y ass s 59 5008 20 XS5
L v .
b 1,810,000 | 2,400,000 | 590,000
T - AIE&HISXHIE 590,0008 = XI=
3| & 50 5t
AteiHl | AFelH] xA;L oij 2.404.000| 1.799.000| -605.000| oM
He At C ANBIARITHEAIZHIE 605,000 2o
NEstDx &,
ol H1 b 1,277,000 0|-1,277.000
0:|=1ls] (:]s]s] - OlHIHIE 1,277,000 2t X|=6tD K+
= JIEH 2Dl 5
ore 2 14,000 13,500 -500
BT 5002 2 XESDN E.




KO

) &

=
L

20219 2%}

=
=

]

1,192,0008 = ZHot¢ 2x =Jt

0
0
gl

o]
<J

RO
RO

i0J
X0
1]

d80e =z

Ol8=S 257,6943 SAHGIH =t

0

[

560,000

0

Bl

4. Ml

i0J
X0
2]

o]

—_

<J

R0

%:1

ot =Jt

JFOH

o

=

X

5.

Bl 200,000& =

ot =t

2FOH
=N

6.

JIEt2EH|l 300,000 =

o)

=Y

Kk
<J

3

At

|SHl 59,500&

i0J
X0
Y]

o2

A
(]

330

Hotod =Jt

o]
=

=
=

8. AIE&HI= X4

590,000& &

=
=

acl M EAE I

AtZ]
10. OlBIdl

9.

605,000 =

=
=

1,277,0008 =

0

Y




